Instructions : Each question lm.\h__-;mr
options. There is only one correct :msgg' 1o
each question. Choose the Correct ost
Appropriate option and darken/blackPwithe
corresponding circle on the OMR Answer
Sheet.

SECTION-*A’: MATHEMATICS
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In the above figure, AB || CD. The value
of x is : X
|
(1)ni0 (2)1 5405
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002, In the given figure, FD || BC || ABJ%nd
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The value of x is : R";
E1) S 675 1138
() SER1292 (o U

Rahul walks 12 m towards North from
< his house and turns West to walk 35 m
to reach the market. While returning, he
walks diagonally from market to reach
back to his house. The distance he

travelled while returning is :

\PR-9-25_G/16890

(3)
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(1) 47 m (2) 43m
3) 39m A~ 37m
004. Thesum of X300 is divided between A
and B such that twice of A’s share is less
than 3 times B’s share by ¥ 300. B’s
share is :
(1) 2120 (2) T 150
(3) T 160 AT X180
005. The perimeter of a rectangle is 240 cm.

[[its length is increased by 10% and its
breadth is decreased by 20%, the
perimeter remains the same. The length
and breadth of the original rectangle
respectively are :

(1) 90 cm, 30 cm
(2) 100 cm, 20 cm
(3) 75cm,45cm

\M‘ 80 cm, 40 cm

,096’./ A man bought a refrigerator for
T 15200 and spent ¥ 300 as labour
charges and ¥ 500 on its transportation.
At what price should he sell it to make

a gain of 15%7?
(7 18400 (2) X 18640
(3) T 18355  (4) T 16560

007 In a city, 40% of the adults are
uneducated while 85% of the children
are educated. If the ratio of the number
of adults to that of the childrenis 2 : 3,
then what percent of the population is

educated?

(1) 65% 2) 80%

3) 60% A 15%
[P.T.O.]
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Read the following qlatements care I

QOS.
¢ correct option :

{ and choose th

Statement 12 For all rational numbers

Nand y X =)=y =N

Statement 1 : For all rational numbers

sy and zo X+ (y «z)=(x+y)x(x+2).

(1) Both statements 1 and 1T are true

\// Both statements T and [Lare false

(3)  Statement [ is true and Statement
I1 is false

(4) Statement [ is false and

Statement 11 is true

009. A candigatrenchin [2days, B candig
itin 16 days and C candigitin 18 days.
If they dig the trench, working together
and get a sum of X 5800 for it, then

share of A in the sum is :

(2) 2800
(3) 2000
(4) % 1600

)1'0/ A wire of length 88 cm was bent into
the shape of a circle and then into a
square. Which figure encloses more

arca and by how much? (USG‘ o= %J

\}»/’ Circle by 132 CITI

Circle by 264 em’
(3)  Square by 640 cm”
(4)  Square by 320 ¢m”
APR-9-25 (/16890

(4)

W [here is a circular garden and a path runy

outside it along its boundary. A man

around it only once keeping close

walks
66 cmlong

to the edge. His each step is
and he takes exactly 400 steps o &9
¢ garden. The diameter of'the

7
7

around th

garden is : (USC’ 4r =

(1) 420cm

A train runs between two stations A and

B. While running from A to B, 1ts
average speed is 60 km/hr and when

running from B to A, ils average speed
is 90 kim/hr. The average speed of the
train during the two-way journey is :
(1) 78 km/hr
(2) 60 km/hr

72 km/hr

(4) 75 kan/hr

012

cletlil

The weights (in kg) of 8 children are
IS 41000 257 R17:2 61430 315:416.5,
9.8. Their median weight (in kg) is :

a (2)SES
IR
= (4) 5.

N (4) 5.75
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014 H’«S{:"
,{pi\;cricnll)' cqual, then the side of the

fuce area and volume of'a cube are

e is
JV‘BL/'('- unit
2) S unit
3) 4 unit
lﬂ. 5 unit
which one of the following options is
( .E;_;'P view of the below given figure?

(@®)

—
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i

e

(]

>
|

C

SZLECLEL

\‘g‘)/ (©)
(D)
3) &)
4 B

APR-9-25 G/16890

700—
600—
500—
400—
300—
200—
00—

uantity of an item

Q

700

firm in 4 months :
DMnnul’aclurc

600

016. Following Bar-graph represents the

manufacture and sale of an item by a

@ Sale

620

(2)
3)
(4)

(5)

Jan Feb

during the month :
(1) 74%
2)BT5%6
3) 70%

72%

Household
Expenditure

% 28800
X 28500
< 32000
T 30800

March
e et M on ===

—

Total sale during the given months is
what percent of the total manufacture

017. Suresh earns ¥ 72000 per month.
Distribution of his monthly earning is
presented in the following pie-chart :

How much money he spends on
household expenditures every month?

[PT.O)



Find the arca of a closed figure ABCO,

4-'\q- il -
‘ where A(0. 3), B(4. 3). C4,0)and O 1s
the nrit.ﬁ\ﬁ .'
Ganit’
(2) unit’
(3) Rflmit'
(4) 12 unit’

019. Four times the area of the curved
surfacdofa cylinder is equal 1o 6 times
the smﬁf{he areas of its bases. If its
height%}Z cm then its curved surface

area cor®ct to two decimal places is :

MEZ]
use & = —
( 7

(1) 452,57 cm®
(2) 305.14 cm’
(3) _ 3%.71 cm’

\9/ @-43 cm’

0207 The coﬁf tiling 24 m wide rectangular
plot is <39000. If the rate of tiling is
< 25 per sq. m, then the length of the
plot is :

(I)  60m
B3 m
o
(3) 49m
(4) %m
021. A squaseof side 60 m and rectangle of

lengthBOm have the same perimeter,
The difference in their areas is -

400 m*
(2) 500 m?
(3) 200 m*
(4) 600 m’

\PR-9-25 G/16890

=3
By what number should (-8) ~ be
% multiplied so that the product is equal

to (~6)" 2

24
o (4) 37
023. In the following three-digit numbers,
values of Aand B are :
B A A
+B A A
JAWA" 8
(1)) A=4B=1

<y A=9.B=1
(3) A=9B=2
(4) A=3,B=2

(5]

}24./’!-\ three-digit number 2a3 is added to the
number 326 to give a three-digit number
5b9 which is divisible by 9. The value
of (b—a)is ;

(1) ]
(2)803
(8) S
Ly 2

(6)



.12 bought 160 kg apples at ¥ 50 per
Shie sold 70% of the apples at X 70
and the remaining at X 35 per kg.

02 Bee
hg

ner K&
IH_.”,]\ gain percent on the whole is :
(1) 30%
@) 6%
l3 ‘ o | l ﬂ"o
19%
Rl
2% I (;:21:6—51-6- 9 then the value of
d: “'b: .
e 1SS
b. “'C.-
(y 3
N
3 12
4) 6
p77. The marked price of an article is ¥ 1500.
A shopkeeper gives a discount of 5%
and still makes a profit of 25%. The
cost price of the article is :
% 1140
(2) <1240
(3) <1180
4) <1260
028. In a camp with 200 persons, there is

enough food for 42 days. How long the
food will last if 40 more persons join
the camp on the first day?

(1) 32days
(2) 36days
(3) 40 days

35 days

ZLEELZL

APR-9-25_G/16890
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Study the following tables carefully and

choosc the correct option :

B SRR
B b
oy Table = 2
~J| x 4 7Y 1
o9 R o 2 60 | 96 | 36
i B d
S (19" Iniboth tables A and. ,xandy
N are in direct proportion
(2) In both tables A and B, xand y
are not in direct proportion
(3) Intable A, X and y are in direct
pi’OpOl‘thﬂ and in table B, x and
— y are not in direct proportion
:J_\ \y?‘(‘ In table A, x and y are not in
L direct proportion and in table B,
(&%) x and y are p@t in direct
v s proportion CT‘ﬂ W g-nrp-{)
WhICh of the following vary inversely?
(1) Distance covered and taxi fare
(2) Distance travelled and time
= taken
~J (3) Speedand distance covered

Speed and time taken

- :
;%/ulfize/bells begin to toll together and toll

=

again at intervals of 6, 5, 7, 10 and 12
seconds respectively. How many times
will they toll together in one hour
excluding the one at the start?

(1) 11 times
(2) 9 times
3 8 times
(4) 7 times

[PT.O)
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033.
7

Read the following statements carelully

and choose the correct option -

Statement I : Number of the form
IN+2 will leave remainder 2 when
divided by 3.

Statement I : [FN upon dividir:ng.b.y 5
leaves remainder 3 and N upon dividing
by 2 leaves remainder 0, then N upon

dividin g by 10 leaves remainder 4.
(1) Bothstatements | and Il are true
(2)  Bothstatements I and Il are [alse

(3) Statement I is false and

statement I is true
M Statement I is true and statement

I1 1s false

Read the following statements carefully
and choose the correct option :

Statement I : Triangle is a polygon
whose sum of exterior angles is double
the sum of'its interior angles.

Statement II : If the sum of interior
angles of a polygon is double the sum
of its exterior angles, then it is a
hexagon.

Statement I1I : Ifthe interior angles of
atriangle are in the ratio | : 2 : 3, then
the ratio of its exterior angles is
359

(1)  Allstatements I, Il and II] are true

(2)  All statements I, II and Il are
false
(3)  Only statement I11 is true

\M Only statement I11 is false

APR-9-25 (/16890

034.

(8)

—
~J

d pici-;l'work in 16 dayy
7 men can do a .
'I‘I]w number of hon n.q_mrcd to dg

double the work irf@u) Sis:

28
2 32
3) 14 P
(4) 24
A jar contains 61
5 yellow marblcs-o
is the probability” L
marble is chosen atf@dom .

ed,gil'een, 4 blue ang
f{a@same size. What |

Nt a red colour

2

ay = -
2 ~
T
(2) 10 )
S
3 N

(3) 5
3 - N
4 Ta :’:J

A bag contains 16 cﬁ bearing number
from 1 to 16. One”Gard is chosen al
random. The probalpilly that the chosen
card bears a prime number is :

5
(1) % 4
~
3 N
) #3)
(S8
5 . N
(3) 3 A
7
(4) T3




ure, which ol the

03 II:C“';\ui,zgg:ll:]:lll::: :::] 3[“ h“?"‘. was | 04). For the given l:l?:'-
P el = : gt wasiound following is truc?
fater thatgdgr one boy 165 ¢m was
wrongly (‘(Picd as 135 cm during
computat ipji ol the average. The correct
AVCTAEC 1Sge
(1) 153 cm
~
:;; :Zii:z \/ c:e-#—(l?ﬁ()oﬂg)

o 150 @) c=180°-cte

/A polyhgdton has 40 faces and 60 @) c=l80=Cub
edges. THY fumber of vertices of the 4) c=ctg

R

b A
lyhgd S:
polyh Qr?ill 042 ﬁ43+3x\/§@,ﬁ5:
(2) 24 \})/ 7

1}333,-'

3) 18 (2)
4 20 3) 8
3}9, The population of a city was 66,150 in iy
2005. If the population increascd at the 04@/”]@ least square number which is
rate of SVeineERIH RIS s exactly divisible by 3,4, 5,6 and 8.is
population in 2003 was :
(1) 62,150 (1) 1600
(2) 63,400 -\}2( 3600
3) 61,250 (3) S184
60,000 (4) 1444
1 044, The difference of two numbers is 988.
3‘@«/ Asum of money invested at 8"37% RS [f the cube root of the smaller of the

(wo numbers is 7, then the cube root of

annum simple interest, amounted to
the larger number is

72475 in 1 year 9 months. What will it

amount to in 2 years at 5% per annum? \}A’( 11
(1) T 2376 Ohje 95
2) 2476 _ (3) 12
(3) %2260 (4) 13
T 2160
(9) [PT.O]
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045, The lateral surface arca of a cube is
256 m” The \'nhuncul'rhcunhc(inbl

IS ! W o ] e
G216 ™ @) =t +[—8d 77 i
312 F: 2 th (5x+2) unit and height
048. A wallofleng ndow of side 2x ’

(3) 64 Lo ; square wi :
6x unit has a sq ) :
(4) 256 unit and a door of width zxf l;?(:iv':::d
R, . : "the fo
046. Inthe figure, diagonals AC and BD of a height 3x unit. W!]lch 0.1 [{1:]—1(: i 0%
parallelogram ABCD intersect cach algebraic cxprcs-SIO"S gIves :
other at point O, such th; the wall to be painted?
=45% B =1102.5
ZDAC =45 ;;;iCéAO I Z.Ege ) 20x+3
measure of £ 1S :
(o)
( 4x(5x+3)
! ' ,:-: \})/-
~— (3)  4x(5x+2)
¥ 4)  5x(2x+3
(4) (2x+3) | :
/i3] i3 049.If the height of a (riangle is (4x” + 6) =
8 B ﬁ unit and the base of that triangle is
(1) 50° (o) (3x’- 4) unit, then the areca of the
(9.0 triangle in sq. unit is :
65° i ; i
i N~ (DB [2x =025
(3) 45 -
(@) 55° (2) 6x*+x-12

047. If the length of 3 rectangle js

25 %
(:3"3 .+5Jm and its breadip is

050. What should be added to 4c(——a—-2b+c)'-'

ekl ;
(a +g}m’ then the area of H(:Jc i 9 C(aeb o) fec@ibee)?
(1) —3ac —13pc + 92 h

rectangle (in m?) js -
(2)F % 33 3pc 2

17133

3 (3)  Sac—3pc 0c?
2000 |
(2) §a4+§az+-—- \jﬂ')/521'~3‘*'3bc+c2 ’

APR-9-25 G/16890
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[nstructions : Each question has four 053. Select the correct mirror image of the
oplions There is only one correct answer (o
each question Choose the Correct/Most
.‘I[?[?ff’l'rf‘”" option and darken/blacken the - B3t
corresponding circle on the OMR Answer placed on the line AB as shown belO™ -

Sheel.
SECTION-*B’ : INTELLIGENCE ]

A
Qﬂf Choose the number-group which is R
different from others :
W7 164,14, 54] i ' ¥
(@) « [99,25574]
(3) [26,4,22] -

4) [45.9,36]

052. Replace the question mark (?) in the

[ a
following figural series : 0
E =51l = ? < '
—

| g

following figure. where the mirror 1S

IJJ T4

| EAD B s B

e i
14

133

Choose the correct answer from the

options given below : i :
@ i
) %
\/ b= 4 -
- T (3) &
a
T «
L
51 {
Vo> \S}‘( ¢
@) D
- 1 5 i
e
Sy
—

APR-9-25 G/16890 (11) [PT.O]
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P51

Find the missing number (?) in the given
series !
REiayor S, 13,2150
() 33
\yl/ 34
@)l s
(4) 32
.(Kw Find the missing term (?) in the
following letter-number series :
SEe gL, &
25P
27N
(3) 25N
\pﬁ/ 27P
_B56. Thereisa certain relationship between
two given words on the left side of (G2
Choose correct alternative for the |

missing term (?) having the similar

relationship with the third term.

Thermometer Temperature : .
Odometer: 2 E oV

(1)  Speed

(2)  Humidity Ans

(3)  Pressure CDl‘s}an(Q
(4)  Current

APR-9-25_G/16800 (12)

y the following information

057. Stud

' ‘jate
carefully and identi fy the appropriate 4.

digit number :

joit 1 €8S than
ace dl 1L 1s 5 I
(] Its tens pl b4

the digit at ones place

Its ones place digit is ﬁé largest
)

.
I-digit even number. g

° Its hundreds place d@t is the
ones place digit of (758-354).

. [ts thousands place digit is the

sum of the digits at its geps place

RA
and hundreds place. g
ty
\,H( 7438 ra
3
(2)N7342
(3) 9548
(4) 8358 %,
(ap)
Find the odd one out an£81g the
: [~
fO“Ong WOI‘dS . .
(1)  Pond
(2) Lake &
?
\% Ran 3
(as
(4)  River I':
'Fl




(N |

(ap)
030, Complete the following analogy : )
. -
DE:9::FG:_2_ .
-
(1) 1S
(2) [ 4
(3) 11
\'/ 13 N\
‘-—
069. Arrange the following in a logical%‘d
y meaningful order : e
P
(A) Doctor —
(B) Recovery
(C) lllness
: N
(D) Consultation -~
9P,
(E) Treatment o)
. » e
Choose the correct option frompthe
t—_—-

following alternatives :

\MCADEB

G, ATDIBIE
3) B,AE,D,C
4) CAED,B

gjf{ How many triangles are there in the

given figure?

APR-9-25_G/16890

1

(13)

\9)/14
(3)

}163.

(1) 12

15
(4) 10

Find the missing term in the following

series :

ccbbaaa,

cba, cbaa, cbbaa, 2,

ccbbbaaa :

\y/ ccbbaa

(2)  ccbbba
(3) ccbaaa
(4) cbbaaa

Dheekshitha is making the given
calendar for the bulletin board. Which

day of the week should be on 25th

January 20xx?
January 20xx
Sun {Mon| Tue |Wed| Thu | Fri | Sat
1 2 3 4 5 6

7 SI | IO | ORI ]

(1) Wednesday

\9/ Thursday

(3) Monday

(4)  Tuesday

[PT.O]



064. A set of figures carrying certain

numbers is given. The numbers in cach

set follow a similar pattern, based on

that pattern find the value of °P” :

2 | 20y

J 25|
1 J

1520 (S
P"(,'

(4)

065. Replace the question mark (?) in the

following figural series :

|l
_7q¢_ﬂ_

H
v ==

I
I
I
[

i

|

APR-9-25 (/16890

=

(2)

3)

|

(4)

According to a certain code if,
PEDESTRIAN =30, ACCIDENT = 24,
and DRIVER = 18, then TRAFFIC is

066.

equal to :
(1) 28 \,()*)/ 21
(B) I 4) 14

pﬁ [f the cost of 3 pencils and 1 sharpner
is T 25. the cost of 2 sharpners and 2

N erasers is T 14 and the cost of 3 erasers

() is T 9, then the cost of 1 pencil is :
2 TS5
Xaa ()RS3 (2)
L A A 7 -
_068. How many ways can Mr. X reach his
home?
N
ooy
) N
F: MeX 1
s
ay - 8
3) 12

_069.  Anita is older than Chetna. Babita is
S_‘:_'older than Chetna but younger than
(*JAnita. Erric is younger than Divya and
v Chetna. Chetna is older than Divya. Who

ages?
\S,L)/Chema @) E
(3) Babita 4) Di\’ya

(14)

13312

P ———

15 1In the middle with respect to their



070

072 Find the odd one out among the

Arrange the following words as per

order in the dictionary :

(A)  Conservation
(B) Conscience
(C) Consequence
(D) Consume
(E) Consciousness
Choose the correct option from the
following :
BYEICTATD
(2) B CHE DA
(3)" " WBIEIEFAYD
(4) 4B E; CIDYA

[ind the missing number-pair (? , ?2)
in the given series :
(25 3)56: D) G Al S (118)

2) (17, 19)
3) (13, 15)
4) (13, 19)

following terms :

(I) PMJ
ROM

(8)% IEG

(4) NKH

APR-9-25 (/16890

W’. Complete the following analogy :
R0 EL6): el il 330
(1) 216
\y)/ 219
(3) 36
o
4) B9
074. Ifthe c6d2 for ‘RIGHT is ‘SJHIU’, then
- -«
what idthe code for ‘FINDS’?
=
(1) GIOET
(2) GIMEU
@y Gbrm-
o
@) GIET
0755 In the;f_-allowing arrangements of
g —
letters, how many ‘G’ are there which
are followed by ‘K’ and preceded by N?
AKGUMNDNKGCSNG
5
KTERGNDZPUNGK X
)
N
G: P
@
(2) Bl
@) &
N
@) 23 o
(89}
)
Ly
(15) - [PTO]
~—



Yacoat
en scntence to Passive

‘hange the giv
Instructions : Each question has four U/‘). Change &
o Voice :
: here Is onlv one correct answer 1o . ~
B e vt ect/Mos Your behaviour annoyed me. ]
ach question. Choose the Correct/Most ed at your behaviour,
cach g [ was annoyec :
Appropriate option and darken/blacken the \))2’)’/ [ was annoyed on your behaviour,
Wield ¢ 7
corresponding circle on the OMR Answer :3) B anl‘lO)’Cd on your
Sheet behaviour. ;
S vy (4)  Your behaviour was anhoyiig
#76. Fill in the blanks with the correct d
TR rom the
ayele: ish degition 080. Fill in the correct adverb ] "
d11Sh declis . ‘ anin
[twassuch o(. 1S following options to makesc__ll’le’m g .
to accept impossible task. o )
IS in i
T a,an -~ We cannot play music e |
(2) the,a . P~
] park. «—
(3) an.the (1)  audibly
(4) aa (2)  aloudly
G77. Choose the word similar in meaning (3) aloud ol
to the given word : \“,)/ loudly -— .
Bleak 081. Change the given sentencgyty Indirect
T Gloomy Narration : S i
2k jIgs
(2)  Bemoan Pawan said, “How beautifsthe scene
(3) Balmy 1s!”
(4) Ugly \y(- Pawan exclaimed that the scene
978. Fill in the blank with appropriate Was very beautiful g\
adverb : (2)  Pawan exclaimed ﬁ the scene
we escaped unhurt, is indeed beautifiiv)
(1) Accidently (3)  Pawan exclaimedﬁ:t how the
(2)  Wisely Scene was beauti fig—
\M Fortunately (4)  Pawan exclaimed how beautifu]
(4)  Certainly IS the scene.

APR-9-25 G/16890 (16)
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Read the passage given below and answer the
questions that follow :

Mountain climbers are unanimous in
agrecing that the unpredictable weather is what
they fear the most. There may be sunshine one
moment and a snowstorm the other. At higher
altitudes, snow is a regular feature and being

decisive about setting up camps or proceeding
further is crucial. The icy sheets after ice
storms make walking treacherous, while the

powdery snow makes a mountaineer sink deep

into the snow. Up there, where the intention is

and exhaustion. Yet, the gratification

mountaineers feel from mastering something
that is so frightening, urges them to undertake
these endeavours. We may think that the
mountaineers are fearless, experts say, ““Not
at @l It’s fear that keeps them so intrigued with
SL%_B arduous journeys.”> Impulse and
br@ness can be deadly foes. In the words of
the Indian mountaineer, Bachendri Pal, “The
biggest risk .... is to not take the risk at all.

RéMmber that.”

P
/Bg The reason given for calling the weather

P
to embrace Nature’s wonder, one realises that N~ ‘unpredictable’ on the mountains, as
F
it cannot be done without facing its formidable given in the passage is :
l glory. A true mountaineer may challenge the (1)  Forces of Nature
mountain, yet is always respectful to the N :
l Y YERERh Sy (@  High altitude resulting in less
powerful forces of nature. ™
- oxygen
Summiting mountains carries its own I
‘ N Sunshine as well as snowstorm
i health risks such as oxygen and altitude
: in short intervals
sickness problems, frost bites, swelling of ol
. ! 4 I i
hands and feet, fluid collection in brain or lungs 5 & s - Storms
™
APR-9-25 (/16890 7)) =

[PT.0]
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(OR3.

084.

985,

I[he reason a truc mountaineer 1S

respectful to the forces ol nature up in

Lo o\l

the mountains 1s: iy

xperience ™
ixperience

(1) Experic ks

\)2‘)’ Survival Fm

(3) Directive —
(4)  Challenge

Choose the inappropriate reason for
the feeling of exhilaration on reacékililg

a summit, that the mountain-climg%rs

experience : e P
(1)  Application of the inculgated

survival instinct S

\323/ Opportunity to use

sophisticated mountaineering

equipment S:'
(3)  Achievement of a seemiggy
impossible feat X
_ P~
(4)  Spectacular panoramic view—
The word from the passage that can be

used to fill in the blank :

Hi i
is opponent beat him 1o
time in the boxing ring. (c\‘?
(1)  treacherous F:
N2 formidable b

APR-9-25 G/16890

(3)  unanimous

(4)  unpredictable

s

087,

(18)

T 1
The word from the passage that meang

game as :
[nvolving a lot of effort and energy,
n

especially overd period of time.
(1)  Endeavour
\}2‘)' Arduous

(3) Treacherous

(4)  Exhaustion
Organize the parts to forma meaningful

sentence :
A Than I expected
B. Our players

(7 Was rather worse

D.  The performance of

(1) ABDC
\yf DBCA

(3) BCAD L

(4) CBDA

Choose the word opposite in meaning
to the given word :

Abandon

(I)  Solicit

(2)  Chastise

\1«31/ Adopt

(4)  Continye



N

=

(1_8"1{-! Spot the error in the Igl-{m\xing 022.

sentence : -
P
She asked /- me that / what / had happened
(A) (B) (C) (D)
\g)/ (B)
2) (D) N
=
3) (@A) np)
L
@ (© <

990_/ Change the given sentencé:fﬁ Direct

narration by choosing the correct

option :

He said that Mangal would be working
(5

hard. o

(1) He said, ““Mangal :ié"w%uld be
working hard.” |:
\(/a" He said, ““Mangal will be
working hard.”

(3) He said, “Mangal would work

harder.” N 004"
i : i i
(4) He said, ‘““‘Mangal gvijl work
hard.” g
ard. —
091, Comparative degree of thc!,\'\j';ﬂjective
‘Most’ is :
(1) Many
(2) Foremost
\()‘f More
(4) Much
APR-9-25_G/16890 (19)

Fill in the blanks with appropriate

choice :

[ wrote a line on the sand with a

that she could not

before the waves washed it away.

(1) read, reed

\()')/ reed, read

(3) read,read
(4) reed, reed

(y/ Choose the correct idiom for the blank :

Mediocre artists like Sheena are found

Y~ adimeadozen

(2) inrainor shine

(3) alland sundry

(4) ateveryshop

Choose the appropriate question tag :

We are going to the movie tonight,

(1) isn’tit?
(2) isit?

(3) arewe?

‘,(A’)/ aren’t we?

[PTO)




“095. Find the correctly spelt word :

(1) Irrepereble

(2) Meagere

\;}]/ Renaissance

(4) Reccomendation
$#96. Change the gender in the sentence :
He is a father and a teacher.
(1)
(2)
(3)
\yl( She is a mother and a teacher.

She is a father and teacher.

10/97. Change the sentence from passive voice

to active voice :

By whom was this beautiful glass

broken?
\[,?)/ Who broke this beautiful glass?
(2)  This beautiful glass has been
broken by whom?
(3)  Who has broken this beautiful
glass?
(4)  Who had broken this beautiful

glass?
APR-9-25 (/16890

She is a father and a teacheress.

She 1s amother and a teacheress.

ropriate word for the

p98. Choose the app

e
blank to complete the sentenc

Today is the day of my life,

nothing seems to g0 85 planned.
(1)  worse
t:“ worst
%3'_) best
(4) bad
%9; Choose the word opposite in meaning

of ‘permit’ :
(1) Present

\éﬁ/‘ Prevent
)
@ Alow
[
(@) License

(20)

Tu

1)6./ Choose the correct conjunction from

the options given below to complete the

seqtence :
e
Tg"géugh she worked hard, she
fpiled.
g —
(1)  although
(2)  nevertheless
@f but
o
\ﬂ( yet
44
N



Imrrrwrhmé« s Each question has four Choose the correct answer from the
oplions T/rc'f:e:gs only one correct answer (o options given below :
(f tfh’t\x'n'c;;: Choose the Correct/Most (1) AV, B, CII, D]
4ppmpriafe option and darken/blacken the @) N 1At G B
corresponding circle on the OMR Answer (@)L - ATV EELC R
- ATV, B-II, C-I, D-O |
| N 1047 The force exerted by a magnet 1S an
SECTION?;I? : GENERAL SCIENCE e
)1)1 _ Trcmoﬁ_éf_hre caused by the disturbance (1) Electrostatic force
l n Lhe_t__ of earth. (2) Force of gravity
| \W/ Crust (3)  Contact force
| (2)  inner core Non-contact force
(3) hntle 105 Which of the following is NOT a Kharif
(4) @ter core : crop?
/102_ The anﬁmtof heat energy produced on \)’l( Mustard
: compl;g combustion of 1 kg. of a fuel @) G
' is called value. Ez; Ead‘d::ean
oya
() 9—"‘3@ 466, Which of the following may NOT be a
| \}Z( g@ Ot cause of passing HIV virus from an
L (3) fuel infected person to a normal person?
| (4)  ideal fuel Shaking hands with an infected
103. Match the substances given in Column person
A with their uses given in Column B : (2)  Through the milk of an infected
-; A B mother to her infant
! A. Gold CERlcimometer (3) Sharing the syringes used for
" B. Iron II. Electric wires injecting drugs
C. Mercury [Il. Machinery (4)  Sexual contact with an infected
D. Copper IV. Jewellery person
APR-925 G/16890 (21) [P.T.O]



107, The major component of compressed

natural gas (CNG) 18
\()/f\-lclhnnc

(2)  Oxygen

(3)  Carbon monoxide

(4) Nitrogen dioxide

108. Combustion is the chemical process in

which substance reacts with
and produces heat.

(1)  Carbon dioxide

(2) Carbon monoxide

J Oxygen

(4)  Nitrogen

109.  Which of the following is NOT a part

5

of the animal cell?
(I)  Cytoplasm

(2)  Nucleus
APR-9-25_0/16890

(22)

l}(). The anim:

M1,

(3) Cell membranc

\w/ Cell wall

s which give birth to the
young ones are called :

(1) Ovoviviparous

2

(2) = Parthenogenic™

(3)  Oviparous

\9( Viviparous

Special shapes are given to the objects

283

moving in fluid to :

®E133

(1)  Restore fluid friction

12

(2)  Keep fluid ﬁ'ic.‘l'cvfg;h unchanged

\;}( Minimise fluid {fiction

(4)  Maximise fluid friction

1

1713312



[dentitd (he measures used to limit | 24 Which of the following is the mosl

q0ISC poliution . reactive with water?
A) aMinimise the use ot automobile ( Sodium

horns ) Cobalt

A,

B) Planting trees along the roads @ Phosphorus
©) Installing silencing devices in E Zinc

aircrafl engines }LS- S¢lect the correct statements from the
1) Cutting trees around the following:

residential buildings When the electric current passes
Choose the correct option from the eh&oughaconducting solution :
following : 2:5) Bubbles of the gas may be
() (B) and (D) only 2 forméd on the electrodes
) (A)and (C) only @ Deposits of metal may be scen
3) (B (C) and (D) only on the electrode

\y/ (A),(B)and (C) only (C) There is no change in colour of

113, Image formed by a plane mirror 1S & the solution

(1) Real, at the surface of the mirror ﬁ) Change in colour of the solution
(ap)
(g

may occur

and enlarged
E}oose the correct option from the

same size as the object Tollowing :

(3)  Virtual, behind the mirror and \% (A), (B) and (D) only
2) (B)and(C)only

GY (A, B)and (C)only
@g (A)and (C) only

(2) Real, behind the mirror and the

enlarged
\y/ Virtual, behind the mirror and the

same size as the object

~
APR9-25_G/16890 (23) - [PT.0.)



ll('

LA
ey ’ .(i ’
very angry. cmh.m-uas&for worrie

(1)  Insulin

(2) Estrogen

\9/ Adrenalin

(4)  Thyroxine

1713312

117. The method of preparing compost with

the help of redworms E\hlled
\M chucomposng
Decomposmg ,\_
(3) Composting
(4) Worming
H8. The variety of organisms existing on the
carth, their interrelationships and their
relationship with the environment is
called :
(I)  Biosphere Reserve
(2)  Biology

(3)  Biosphere

\V)/ Biodiversity

APR-9-25 (/16890 ‘ (24)

s - A = 5 z ’
Which of the thllnumgcvh;nmmu helps | 419.

h.IIII

)
Reserve forest of IndiaZ’

(1)  Jim Corbett National Park

(2) Tawa Reservoir

\Q( Satpura National Park

(4) Kaziranga

1/20. Many young people get acne and

pimples on the face during adolescence

due to :

(1)  Increased activity of salivary

glands

\Vr Increased activity of sweat

glands and sebacious glands

(3)  Increased activity of sebacious
glands

(4) Increased activity of sweat

glands




Mateh the following :
Member of Example

Solar System

\ Satellite I Cassiopein
g Constellation L. Sirius
¢ Comet III. Moon

. Star IV. Halley
Choose the correct option from the

mswers given below :

A-III, B-I, C-IV, D-II
Q) AL B, CIV, DI
3) AL BV, CI, DI
4) AV, B, CdIL DI
12 The percentage of different gases in air
IS :
(1)  60% nitrogen and 40% oxygen
(2)  10% nitrogen, 50% oxygen and
other gases
\y{ 78% nitrogen, 21% oxygen and
other gases
(4)  20% nitrogen, 20% OXygen and

other gases
15, Which is NOT a naturally occurring
greenhouse gas?

(1)  Nitrous oxide

\}2( Ethane

APR-9-25 G/16890

(25)

A% XY

(3)
(4)

Methane
Lurbon dioxide

~J . N _
Match.ls organisms in Colurmrn At
their a((ﬁ)yn in Column B :

e

A N B

A. Bu%ia [ Fixing Nitrogen

B. Rhizdbium
il ¢

(& Pn&f{,(m
D. Viﬁ;

Choose the correct option from the

[I. Malaria
[11. AIDS

V. Tuberculosis

answers given below :
s _

(1) =AM, B, CII, DIV
—

(2) (A)II B, CI1v, DI

\ﬂ(.mv B, CI, DI

(4) A—I]I B LT DIV

}25. Microorganisms are classified into four

major g\rlbupsas:
(1) E\Sfus, Paramecium, Antibodies,
CAdtibiotics
=S
(2) MRangi, Bacteria, Pathogens,
Rhizobium
(3) Bacteria, Aspergillus, Amoeba,

Spirogyra

Bacteria, Fungi, Protozoa, Algae

[PTO.)



Instructions : Each question has jour options.

T"’-(‘J‘(‘ ‘f\' ‘.”2“’-‘- one ‘_"”'f'{_'[_'f (H.".S"l-"t."f;_f_g (JCJC,)
| , )

auestion. Choose the CO”“-’_} Most

Appropriate option and larke Hr’b/{{kf’n .'fze

orresponding circle on the OM nswer

Sheet.
SECTION-‘E’: SOCIAL SCIENCE

126. Which one of the following is an

|

example of Marine based indusiry?
(1) Ironore

(2) Pharmaceuticals

CLEE]

(3) Cotton textile
\s/ Sea food processing
127. Which Article of the Constitation of
[ndia states that the pr:@éce of
untouchability has been abol%d?

(1) Article 19 o
(2) Article 21
(3) Article 14
W Aricle 17
=3
128.  Which country is the largesl"pﬂoducer
of “Bauxite” in the world? CJJ
(%)
Australia .
N
(2)  Russia

APR-9-25 G/16890

/1/29‘

(26)

(3) gouth Africa

(4) Brazil

Match List-1 with List-11:
List-1 List-1I

Financial Officer

A. Diwan I.

B. Bakhshi 1. Military Paymaster
C. Faujdar III. Military Commander
D. Kotwal IV. Police Commander

Choose the correct answer from the

options given below :

(1) A1V, B-I, C-I, D-II
(2) A, B-I, CI, DIV
A-l, B-lI, C-1I, DIV

(4) A, B, CI, DIV

1 ;va/ The full form of “CITIES” is :

(I)  The Convention on
Indiscriminate Trade in
Endangered Species

(2)  The Contract on Indiscriminate
Trade in Endan.éered Species

(3)  The Contract on International

Tradein Endangered Species
\s/ The Convention on International

Trade in Endangered Species



(he im\\l.':- of the Jlldlt_‘lill'y to strike 133 Which ofthe follow et nts are
- > ich ol the 10 megsacme

-

Jown p;ii“ﬁculur laws passed by the

\..J“) v . ¢ Tel &4
ayrlianggnt 111 believes them to be in orrect?
\[OH“‘?“J‘Y the basic structure of the (A) Public facilities relate 10

~astitution 1s called ’ i
Cons people’s basic needs.

i
) Asajendment

— . (B) Public facilities are only for
\/ Judicial review
0) L‘ﬁici al activism those who can afford them.
) N
4) Separation of powers (C) The responsibility to provide

., Which one amo i e
A mong the ioleming public facilities lie with the

satements is NOT correct about the A
government.

Gram S@a?
\y/ work of the Gram Panchayat (D) The responsibility to provide
[‘E’Sto be approved by the Gram public facilities lie with private
Sabhiz companies.

) The Gram Sabha prevents the
Choose the correct answer from the
Panchayat from misusing money.

(3) The ward Panchs and the options given below :

Sarpanch form the Gram Sabha. \% (A)and (C) only

4 is 18 years old or
(4)  Anyone who is 18 y€ (2) (A)and(D)only

more and lives in the area

covered by a Panchayat is 2 (3) (A)and(B)only

member of the Gram Sabha. (4) (B)and(C)only

AR925_G/16890 (27) [PTO.)







180, Which of these is NOT a function of

»

the Municipal Corporation?

e ‘ ¢ i ’
\{/ Providing defense scp\ﬂpcs

(2)  Garbage collection D

(3)  Prevents outbreak of discases in

the city

(4)  Running schools

140. Sahara, the world’s IurgcsESuscrl. 1S

located in which of the q‘_fjlnwing

continents?
(1)  SouthAmerica
(2)  Antarctica

\y/ Afric

(4)  North America

141.  Which one of the following is NOT a

factor of soil formation?

\yl/ Precipitation

(2) Climate
(3) Time

(4)  Parent Rock

APR-9-25 (/16890
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~

4

AL RN VA

AR A

142 Which crop is also known as “Golden

Fibre™?
(1)  Wheat
(2) Millets

(3) Cotton

\)/ Jute

_143.  Gandhiji carried out the Dandi March
to oppose which of the following?
(1)  Simon Commission
(2)  Partition of Bengal
(3) RowlattAct
\}0/ Salt Law
144. The last Mughal emperor was :
(1) BakhtKhan

(2)  Ahmadullah Shah

\;8( Bahadur Shah Zafar

(4)  Nawab Wajid Ali Shah

(29) [PTO]



al Scavengers
Iiu'ln1phn|ncn|n|hIJHUJISLJ\tuL

|45
and Construction of Dry Latrines

‘ as passed by the
(Prohibition) Act, was pd \

;i B gl 1 p)
Government of India mw hich year"

(1) 1992

\/1003

(3) 1989

(4) 1990

146. The difference between the birth rate
and the death rate of a country is called

the

(1) Population distribution

(2) Lifeexpectancy
\9( Natural growth rate
(4)  Average density of population

147. Which one of the following is a

Renewable Resource?

\/ Solar energy

(2)  Petroleum

APR-9-25 G/16890

(3)  Natural gas

(4) Coal

‘han”’ written
148, The book titled *Amar Jiban was

by :

(1)  Tarabai Shinde

\5/ Rashsundari Devi

(3) Rokeya Sakhawat Hossain
(4) Pandita Ramabai
=

149 Witht is the full form of “PIL”?

Ca)
M Public Interest Litigation
gt

N
(2)  Public Information Litigation
(';"Sjil Public Interrogation Litigation

—
(4)) Private India Limited
)

150. Iﬁgﬁzad Hind Fauj was raised by :
(1)  Jawaharlal Nehru
\9( Subhas Chandra Bose
\'l
% Mahatma Gandhi
OV

(4»  Bhagat Singh
N

(30)



